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Quiz #4 (CSE 400.001)
Monday, November 24, 2014

Name: E-mail:

Dept: ID No:

1. (10 points) The following figure shows the regula falsi method. Starting with zq = 0 and z; = 2,
show the first two steps of the regula falsi method (i.e., compute 25 and z3) in solving the following
equation:

22— 4 +3=0.




2. (10 points) Assuming that

flz)=ao+ ; <an cos n%m + b, sin n%a:) ,

show that Parseval’s identity holds:
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3. (15 points) Table 1 shows the result of applying the Runge-Kutta method to the following initial
value problem

oy =z —y, y(2)=2
fromz = 2 to z = 3 with & = 0.2. Fill in the blank and show your work for partial credit.

L4 Yi
2.0 | 2.0000
22| 2.0091
2.4
2.6 | 2.0692
2.8 | 2.1143
3.0 2.1667
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